@

| SERVICE

without guesswork




/’#L L

Valid for:

Type 3 (all models and versions)
1493 cc. - 54 bhp (SAE) from Chassis No. -~ 0000001 (April1961)
1493 cc. — 66 bhp (SAE) from Chassis No. 0221975 (August1963)

| Typel24
1493 cc. from Engine No. 124-002501 (August1963)

SERVICE DATA
AND SPECIFICATIONS

Type 3 (all models and versions)
Type 124

This compact volume presents in ready reference form all specifications and adjustment
values as well as important data for the Type 3 and Type 124. It is a pocket reference
book designed for the assistance of VW specialists.

VOLESWAGENWERK AG - WQLFSBUKG




CONTENTS

Engine Page
1. Tolerances and wear fimifs. . .« o viv v e e o et 4
11, Technical data and specifications . « + « + v« v v v o e e s ae e 12
1Il. Charts

o — Dimensions and grading marks of cylinders and pistons . . . . . . 1
1 2 Ragrindingicrankahatys v . < ialers i s iV s 5 o d 15
¢ — Tightening cylinder head nufs « . + .« « v o o v v gien
d — Industrial Engine:
1— Permissible deviation of the governor seffing . . « . . . . . . 20
2— Spring fable for governor seffing « - s+t s e e e . 2
Fuel System
Carburefor adjustment of the single and win carburetor engines . . . . 21

Front Axle
1: Tolerances and wear Jimifs = +.u s s o vio i oios s omabaabiote o 2
11, Technical data and specifications

G SIRORAG ..o v s IR (SR LY 7
b— Torsion bar adjustment 27

< — Stabilize 27
11l Specifications for aligning equipment « . . s uws + - . . . 28
fication of shock absorbers « . .« . - . . . . 30

Rear Axle and Transmission
1. Tolerances and wear limits a
I1. Technical data and specifications

a—Ratios . . 3
b—Torsion bar adjustment . 3
c — Drive pinion and ring gear adjustment 3

Brakes, Wheels and Tires
1. Tolerances and wear limits 35
11, Tire spacificotions. .. .. o Sofia ihs s . © 39

Electrical Systom
PEITONMAG Saystom . . “seciiinie Shan iy o e R 4
1, Boterias. v s ol P e Dot it e R PR B 2

General Data and Specifications
T TBle MAeR e, . 14 oo i S ]
11 Tightening (Reference . sty s Bttt s s e b 45

111, Dimensions and weights . . . . ... ... ie e 49

1Vt ParTormanice s snusia bk oo s o it et it S 51
T TR i e e e 53

V1. Fuel and oil consumplion . . ... .. iiu e 54



| ENGINE

I Tolerances and Wear Limits

The term WEAR LIMIT means that parts which approach, or have already reached, the
Jimit given should not be re-used when carrying out an overhaul. When deciding the.
wear limit of pistons and cylinders, due consideration should also be given fo the oil

| consumption of the respective engine.

Engine (1493 cc.)

Ao Cyhnder senlmg depth

n cylinder head . . . . . .
2 Cylinder - v . o ousiniies
3—Piston/cylinder  + . . . .- -

4—a) Upper compression ring . -

b) Lower compression ing - -

5— Oil scraper ring +

Tolerance Limits

out of round
clearance
side clearance

side clearance

« side clearance

6— Compression rings . . . . + - gop
Oil scraper ring . aop
Weight folerance of pistons
inoneengine. . . ..+ v .«
8— Weight folerance of con rods
inoneengine. . . ...t u e
9 —Piston pinjcon, rod bush . . . clearance
10— Connecting rod bearing . . . . clearance
end play
11— Crankshaft main (bearin
consideration being paid to the
pralood by the cronkcose)
o) Bearings 110 3 . . . clearance
b) Bearing 4 . . .. ... .. clearance

* when repairing

ey Wear Limit
13.75—13.85 mm
(:541—545")
max. 0.01 mm
(.0004”)
0.036—0.056 mm 0.20 mm
(:0014—.0022") ({008")
0080107 mn 012 mm
(.0031—.0042") (.005”)
.045—0. 0.10 mm
(,ww—.wzm (:0047)

0,025—0.052 mm
.0010—.0020")
0.30—0.45 mm

(.012—.018")
0.25—0.40 mm
(010—016")

max. 5
8 dn

mox. 5
8

0.003—0.016 mm
(.0001—.0006”)

0016 0074
(.im—.o!s")

0.046—0.104 mm
(.0018—.0041")
0.047-0.102 mm
(.0019—.0040")

maox. 10g*

(5.6 dr)
0.04 mm
(:0027)
0.15 mm
(.006”)
0.70 mm
(.028”)

0.18 mm
(-0072")
0.19 mm
(.0075")

B e G




Tolerance Limits

o Wear Limit
12— Crankshoft af 2nd and 4th
i main bearing journals (It and
3rd bearing journals on
V-blocks) run-out 0.02 mm
(.001”)
13— Crankshaft/main bearing 1 . . end play 0.06—0.12 mm 0,15 mm
(.0024—0047") (.006”)
14— Crankshaft + . oo v v v s + out of balance max. 8 cm
(1 oz in)
15— Main bearing journal . . . . . out of round 0.03 mi
(:00127)
16—Crank pin .« .« .o euen s out of round 0.03 m;
(0012")
17 — Crankcase bore for crankshaft
: o) Bearings 1103 + .« . .. diameter 65.000—65.019 mm | 65,030 mm
(2 5591—9559&”) (2.560")
b) Bearing 4 . . ... v .. diameter .040 mm
(l o A
90.000—90.054 mm
18 — Crankcase bore for camshaft . diameter 25.020—25,041 mm
(:98504—98587")
19 — Camshaft <.+ ... cleorance 0.020—0.054 mm 0.12 mm
(.0008—0021") (.005)
Thrust bearing + .« . . . . . end play 0.060—0.114 mm 0.14 mm
(10024—0045") (.006”)
(between cenfers) . .. .. . run-out 0.02 mm 0.04 mm
(.0008") (0016")
20 — Camshaft fiming gear . . . . . backlash 000009 i
I 21 —Flywheel (measured at center
of cluich surface) . » .« . - . . lateral run-out . 30w
¥ out of balance max, 5 cm
| {07 0. ng
Shoulder below gear ring . . : outer diamefer |  699—70.1 mm 69.40 mm
5 (275—2.76") (27322")
Remachining width of feeth . . max. 2.0 mm
| 008"
© 2—Valvestem: intake . . . .. diameter 7.95—7.94 mm 90 mi
| (.3130—.3126") (.31107)
exhaust . diameter 7.92—7.91 mm 7.87 mm
(3118—3114") (:3098")
out of round 0.01 mm

(.0004”)




8
Tolerance Limits 5
ow pm,'s " Wear Limit
23— Valve head: infake . . . . . diometer ss5mm
exhoust . . . . diomefer 320 mm
(126"
Engine No. 0065 745:
O el g e 31.0 mm
1.227)
24— Valve guides:
,,,,,, inner diamet 8,000—8.020 8,060 mm
intake and exhaust ioner diamsfer | 8000 6.020.mm Ripa
1
ozl DU F .050—0.080 mm 0.16 mm
(:0020—0031") (.006”)
EXhUsE e e el clearance Oe00110 0% mn
e width 13—1.6m
(051—063")
b) exhaust - width =
o) valve seating face run-out o(mn;
27— Valve springs:
Loaded length 33.4 mm (1.31”) . ioad 438k + 3kg
(96 Ibs. £ 7 Ibs.)
o Chassis No. 0 042 967;
Lol ength 545 mm 11459 . load 463kg + 23 kg
(102 Tbs. % 4 Ibs.)
28 — Valve clearance up fo a max.
femperaturs of 56° G (122° F] adiusnm-m 030 s
29—a) Rocker arm . . . . .. .. ‘nnerdiameter | 18.000-18.018mm | 18,036 mm
_ (70866—7097") L721447)
b) Rocker arm shaft . . . . . . diameter VST | 17950 mm
(.70803—.70732" (.70649")
) Rocker armrockar orm shaft clearance 6.016—0.02mm | 0.080mm |
30—.:) Crunkmse bor -0020”) (.00317)
m followar » + + « « + . diameler 19.00—19.021 mm | 19,050 mm
(.7480—7489”) )
b) Cam follower . . .. . . . diameter 18.980—18.959 mm | 18.930 mm
(.7472—.7464") (.7453")
Crankcase bore/cam follower clearance .00—0.062mm | 0120 mm
31— Gomprassion (.0008—.0024") (:0047”)
(To be checked with the throttle
open and engine at operating
femperature, all spork plugs
ved, pressure gauge in
spark plug seat and the Bnqmo
turned over by the starter
i e 9.0—10.0 kg/sq. cm T0kgfea, em
(128—142 Ibs./sq. in.) lbsl




[TEm—

0
Tolerance Limits e
e i Wear Limit
32— Oil_pump: end play of gears/
body with g t
(cover removed) . . . . . - . end play 0,066—0.183 mm 0.20 mm
(:0026—.0072") ({0087
End ploy of gearsfbody
{gasket removed) ... endploy 010 am
Oil pump gears. . « « « + + « backlash 0.03—0.08 015 mm
(.0012—.0031) (.0059”)
=0l pressure (SAE 3 oil only)
i ol tempercture
Ao b 05 kgl
o) af B0 rpm .. ..l min sq. cm
(7 Ibs. &
b) at2500 rpm . . . ohu k. s min. Z(Jkg
(28 Ibs./sq. in.
34— Spring for oil pressure rlief
len:;)h compressed: 23.6 mm . load 7.75 kg
(17 Ibs)
35 — Oil pressure contact opens . . pressure 0.15—0.45 kg/sq. cm
(2.1—6.4 Ibs./sq. in.)
Clutch (180 mm dia./7”)
1— Clutch driven plate . . . . . . lateral run-out riax. 0 min
2— Cluich springs
a) long spring
Londed Tength 29.2 mm (1.15”) load 44.5—49.5 ky
b) short spring: 8109 s,
Loaded length 29.2 mm (1.15”) load .2—42.8 k
895 Tbs.).
3— Clutch pedal free-play . « + . « 1020 g
4— Clutch pressure plafe . . . . . run-out > o,mv)n
5— Clutch release plate . . . . . . run-out .40 ms .
(0.016")
6—Clutchassy .o v noevns unbalance max. 15 cmi
(210, in.
7= Distance from flywhes!
o release plal 2 + 02 mm
(1,02 + 0.008")
8— Clutch pressure 390—420 kg
Clutch (200 mm dia.[7.8”) (860926 1bs.)
o (irom Chassis No. 0064 916)
the fallowing deviations:
2= Clich springs
loaded length 29.2 mm (1.15”) . load 4.7 5—;;|2§kg
7= Distance from flywhes! )
to release plate « « . . v . . . + 0.2mm
106 +
8—Clutch pressure . .. . . ... so—n%w !
(838925 1bs.)




1. Technical Data and Adjustment Values

Engine 1493 cc. Single carburetor Twin carburetor
B 83 mm (3.27" 83 mm (3.27")
Siroke 6 mm gm"} 69 mm (272")
f Capacit 1493 cc (9110 cu. in.) 1493 cc (9110 cu. in.)
o Compression 72:1/7.8:11) 5
Oulpu) 45 bhp at 3800 r.p.m. 54 bhp at 4200 r.p.m.
Output (SAI 54 bhp at 4200 r.p.m. 66 bhp at 4800 r.p.m.
Maximum torque (DIN) 108 mkg 7.1 1. Tbs) 1osmk .1 1. Ibs.)
at 2000 r.p.m.
5 Maximum toraue (SAB). . . | 11.5mkg (833 ft. Ibs) 115mkq (ssf . bs.)
a p.m.
it s i approx. 122 kg (269 Ibs.) prox. 123 kg (71 lbs.
LIy sa0TEoreKow (1550 in) | se0 ﬁu;/m (12?9 . wm{n )
(less heating requirements) af 3800 r.p.m. ot 3

) from Engine No. 0 065 746 and Type 124

Industrial Engine Type 124
as single carburetor engine, however with following deviations:

Continuous output with 8 % governor variafion . . . - . o hhp of 3000 £pm.
Engines without gOVernors + « .« « + .+ .. 144 .-

Engine with normal equlpmenl dry weight - - = appeess 307'kg (234 Ibs.)

A quantity approx. 500 liters/sec. (1059

Valve fiming with a valve up to Engine No. from Engine No.
clearance of 1 mm (.04”) 0 055838 0053 839 ;r% %yp- 124

7°30" before T.

~ Intake opens . . . . ...
Intake closes . . .. ...
Exhaust opens . . . . . .
Exhaust closes . .. ...

before

Distributor
Single carburefor en

Bosch ZV/PAU 4 R 6
from Chassis No. el pt

without governor . . . Bosch ZV/JU 4 R 3
Type 124 slandard version Bosch VIR 4 BR 25
Twin carburetor angina P Bosch ZV/ICU 4 R 3

Contact breaker gap . .+ « m (.016”)

Ingition firing poin 10°_before T.
Stom Chases No. 0 06557 Up 10 0084751) . . . . . . 12.5° before T
Sparking plugs {

6707 mm (024—028") *
Beech 0 Ba T ‘
Beru 1754 |
Chompior

and plugs of similar valves

from other manufacturers




s = . o
Y. ~

I Tables !

@ —Measurements and Identification of Cylinders and Pistons

\ o \‘ litae l Corresponding Piston |
blue | 82990—83.001 3 |
Nomina! dimension pink 83.002—83. 9
o 80 m Bresn | 8301483025 8297
blue 8349083501 | 83.45
Ist Undersize pink 83.502—83.513 8346
| B5mmdia. green 8351483525 | 83.47
blue 83.990—84.001 83.95
2nd Undersize pink 84.007—84.013 8396
i green 84.014—84.025 8397
| Weight

Single carburetor engine | Twin carburefor engine
Weight grading Paint line }—m————————————
up to En, me\ mnn?§7'4'5| i d
rom introduction
| Ro-0eS74s | and Type124|

Weight — brown | 355-360 gr. | 365-372,5 gr. 373,5-380 gr.

Weight + 365 or. | 3725360 0r. 303865 ar. i
Color Piston pin dia. (mm) VisicE Sh

Black FETra 2199521998

White 2000 21.998—22.001

Green Boo—25004 Pistons pins only

016 2 0.8
(ard] 75 ™™ 0.06"

o | 165
1.6533




AT -

£
{ Bearing Journals 1—3 and Crank Pins D
| Ground Di. Lapped Dia.
| Nominal Dia. < 5
mm ins. mm ins.
I 55.00 mm 4 56990 | 216496
i g (2.16535") = 54971 216421
" 54.75 mm 54.749 215511 54.740 215511
1st Und
SN (2.155517) 54740 | 215547 | s72 | 21547
oo : 50 mm sea9 | 2156 | saaw | 25z
lindshis, (2.14567") sea0 | 2usy | sean | 214458
. 54.25 mm 54.249 213579 54.240 2.13534
- s iDnnizs (2.13583") 54.240 213543 54221 2.13469°

The crankshaft is lapped fo final size.

Keep strictly to the dimension given.

—

Bearing Journals 4 (D)
Ground Dia. Lapped Dia.
Nominal Dia. 2 e
mm ins. mm ins.

40.00 mm 40000 | 157480
sl (1.57480") 984 | 157417
e 39.75 mm 39760 | 156535 | 9750 | 156496
e (1.56496") 39.750 156496 | 39734 156433
v Underst 39.50 mm 39.510 1.55551 39.500 1.55512
g stren = (1.55512") 39.500 155512 39.484 155449
3rd Undersi 39.25 mm 39.260 1.54567 39.250 1.54528
g (1.54528") 39.250 15428 | 39.234 1.54465

The crankshaft is lapped fo final size. Keep strictly fo the dimension given.

ol &

e




1— Tighten nuts slighily  first.

f c — Tightening cylinder head nuts

|

. 2—Tighten to atorque of 1 mkg (7 f1. Ibs.) in the following order:
|

Tk

3 — Fully tighten to 3.0—3.2 mkg (22—23 ft. Ibs.) in the following order:

S



P —

2
d — Industrial Engi
1— Permissible deviafions for the more common governor settings:
(Type 124 standard version)
Output with + 8 % governor variation (Carburetor 28 VFIS) |
Nomin ilieecd bhp Nominal loaded r.p.m. v‘
200 780 2000
2500 345 2500
3000 00 3000
3200 20 200
3400 440 3400
300 %0 3600
2—Spring table
{One axial spring is used for all governor seftings.)
Type designatio | Radiol | Dimen. | Speed measured | Setof
of fha m;?/:rnlur" Nominal | springs |sion “a“1)| " at a stroke of springs
i per side. mm 1 mm 5mm .
124135 020 1 700 | 2000 | 20 |sp2s
124 135 030 3000 2 68.0 3000 3220 SP 257 A
124135 032 3200 2 70.5 3200 3495 SP 261
124135034 3400 2 68.5 3400 3645 SP 260

1) The measurement “a” is meusured at the outer flats of the nuts.

FUEL SYSTEM

Carburetor Adjustment
a— Single Carburetor Engine

Type of carburefor: 32 PHN 32 PHN—
Parf No. 311129025 311129025 B[311 129 025 A | 31112902509 |
approx. from |
M 0000001 | 0014475 | 0065746 | 0084752 | 0220137
Venturi . mm dia. 25 285 25 2.5 25
Main jet .. .. 1375 1375 1375 125 1275
Air correction jet 125 125 125 15 15
Emulsion tube 48 48 48
Pilot jet1) g 457 45 g 45 g 45 g 45 -
Pilot air bleed -
illing .. 14 12 1.3 13 1.3
Pump jet . mm dia. 0.8 0.8 08 08 08
er jet . mm dia. 105 1.05 1.05 07 07 e |
Float needle
valve . . mm dia. 15 15 15 15 15
Weight of float .. | 125 125 125 125 125

1) with electromagnetic cut off valve
3 approx. from engine No. 0013 600: g 50
3) also for Type 124 without governor




b — Twin Carburetor Engine

Carburetor fype 32 PDSIT—2/37%)
Part No 341129 025/6%)
approx. from Engine No 0255001
Venturi mm dia. 215
Main jet Wi e i ol 125
Air corrachon et R ol ey o mr iiSe g e 180
filot el PR 2 et g 45

ot mm dia. 20
et el mm dia 05
float needie valve | mm di 12
Weight of floa approx. gr. 73

1) with damper ball 2 left/right

Accelerator Pump

E Twin Carburstor
Single Carburetor Engine A

Type of = =

carburefor . . 32 PHN 32PHN—I 32 PDSIT —2/3
Port No. ... |311129025 | 3111290258 | 31112902%5A+DY) | 341129 025/6
Fuel delivery <c. | go— 4 = =

oLl i | F1s 09—12 035—0.55
1) also for Type 124 without governor
Fuel Pump:

Fuel pressure (of 3800 r.p.m) . « .+ . .. ... i, 03 ke, om (43 o/ o)

p.m.)
Fuel*delivery via float needle valve 1.5 and 1.2.. min. 400 cc per minute (24.4 cu.

1) Type 124 stondard version max. 0.2 kg/sq. em (28 Ibs./sq. in.)

<— Type 124 Standard Version

Carburefor type 28 VFIS
Part No. 124129021 B
Governor accuracy 8%
from about Engine No. 124—002 501
Ven'ur] ........................ mm dia. 2
Mciin fof - PRI ISR, . oy B R e 107.5
Air (errecnon jet e 140
Pilobje).i: e . iEanpbutts 5 g 45

| Pilot jet air bleed 08
ERIUTSION JBBT - v oia: it s aghld s i 23
TOVBOIIE, . . . o el e 53
Float needle valve 3 15
Weight of floot » . + .« vt ©e.u. .. approx.gr. 57

| 1) with electromagnetic cut off valve

FeeraEs s




FRONT AXLE

I. Tolerances and Wear Limits

Tolerance Limits

J et aaris Wear Limits
| 1—Ball joints, upper . . . . . . . play no play (g:g;,) iy
Ball joints, lower . . . .. .. play nc bo %b‘_’o’é‘l')'
2—Te arm, up;
o Noaaty Bearing seat . . . . diameer 35.000—34.975 mm
(1 37795—1 37 97" )
b) Bearing bush seat . . . . . diamet
) Bearing bush sea iamefer 11.37775—1_37677")
3— Torsion arm, lower
o) Needle bearing seat . . . . diameter 40.015—39.990 mi
(1 57539—1 5m|"]
from Chassis No. 0127 588 diameter
N
b) Bearing bush seat . . . . . diometer 33,015—32.990 mm
(1.29980—1.29882")
1) without loading the ball joint
i o i 5 s e s

—a) Torsmn arm, upper/
bearin, sh

....... clearance 0.15—0.22 mm
(.0059—.0087")
- b) Torsion arm, lower/
earing bush . . .. ... clearance 0.15-0.22 mm
(.0059—.0087")
5—Bearing bush for
o) Torsion arm, upper. . . . . reaming dio. | 35.150—35.200 mm
n 38386—1.38583")
b) Torsion arm, lower. . . . . reaming dia. 3.165—33.215 mm
- (1 30571—1.30768")
6— Axle beam
o Sest. for upper needle
.......... diameter 43.967—43.992 mm
(1.73098—1.73197")
I Quenizeraiiurcin » 7% . diometer 44.167—44.192 mm
A (1.73886—1.73984")
b) Seat. fm lower needle
....... diameter 46.967—46.992 mm
| (1.84909—1.85008")
(8T R T diameter 47.167—47.192 mm
(1.85697—1.85795")
from Gl 0127588 diameter & | 49.967—49.992 mm

Oversize .

(1.9672—1. mz")
167—50.192 m
97511 97617

e




(= V P '716

Tolerance Limits | weqr Limits

| (new ports
7— Wheel_adjusting values
(Chassis horizontal)
o) With permi
weighi:
0 mm
y 2
g pin_inclin 6°10
b) W\Ih vehvde unladen:
toe-in, ot rim flange . . . . 4—6 mm
(16—24")
up to Chassis No. 0127 587 3—5mm
(12—20")
camber . < o 12 807 120 £ 10
)o Chassis No. ﬂ 177 557 1°20 = 207
Ynchnuhm\ of axle bea 10°20"
8 — Steering g
ol Sheoring roller shaft,
seat for bushes. . . . « + « diamefer 23.993—23.980 mm
(.9446—.9441")
5) Bushes for steering roller
........... inner diometer | 2402124000 m
o) Steering roller shaftfbushes . radial play 600 0
{.0016— s
L e e et il
II. Technical Data and Spe

a— Steering
Total ratio
Steering wheel furns from lock fo lock .

Angle of wheels at full lock

up to Chassis No. 0090271 29 —1°30°
7o & 10

[ from Chassis No. 0090 272
Smallest furning circle: Models 91 and 36 . - -

l 2w 2
max.

SaEeliln 36.5 ft.
prox. Tokm BeR

Model |  Length | Diameter [ Adiusting angle
| all [T857mm a77) [ 9 mm (059 | 35710 + 50
| |
Models | Diameter 7 |

31, 34 and 36 [payload 460 kgnma lbs.] ..... 11.0 mm (.43")
s.) . e 13.7 mm [,5\4”)

36’ (payload 375 ka/827 Ibs.

A e - wti 3




1Il. Specifications for Vehicle Inspection

1—With 15" nm, 10 ﬂngular minutes equal a track

measurement 1.2 mm (.047")
2—Toe-in with wheels not pressed together. . . . . . . Vi 33—
up fo Chassis No. 0127587+ + v v v v v vvv e o v 25— 42
Toe-in with wheels pressed fogether af rear . « » . . . . - 20 —38
up to Chassis No. 0127567 .+ o o o v o v un s s 35—
Pressure to press wheels fogether. . .« . . . 0oL ... 10 £ 2 kg
(22 + 4 1bs.)
laximum permissible difference betwesn fostwith
wheels pressed and not pressed . e o avaie 0y o 20
3 — Front wheel camber in straight-ahead position and with
forsion arms properly adjusted . . . . . ... ... . 120 & 10
up fo Chassis No. 0 10788P"0" s oo o o o oiiiinms - 1°20" £ 20"
Maximum permissible difference between sides. . . . . . 2
4— Difference in wheel angle at 20° lock to left and right . . . L b
5— Inclination of axle beam with oxle free of load and
vehicle horizontal v\ 6l omus s daninE Sl s i o m 10°20°
= B ]
6—Caster angle of wheel . . . ... .. .......... 4 x40
Cerrespunds to_the camber difference of a wheel
° lock fo the left and right. . . . . .. ... .... 40’ + 25"
e iiee! leadk i spring plates correctly set. . . . . . (S
Corresponds fo
fee-ln from 0.6 mi

= Moximum permissible deviation in wheel alignment .
9 — Rear wheel camber wifh spring plates correctly sef .
Maximum permissible difference befween sides . . . + + +

024" to toe-out
4"

10— Selting angles of forsion arms and spring plates

) Models 31 and 34 . . . . .. ... [ lomenimesss
b) Model 36 (payload 826 lbs.) . feicion o -
<) Model 36 (payload 1013 Ibs) . . . . { ;gﬁf‘;";};',‘f,‘ 2

39°10° + 50"
20° +50
39°10° + 50°
18°30 + 50

39°10° + 50°
21°30" + 50"

11 — Inclination, ul vehicle fo rear, measured at bottom of

) Vehe

5 £ 15
2 15




Test conditions:

1— Instrument properly set
2 — Vehicle unladen

3—Tire pressures correct (see page 39)
4—Vehicle correcily aligned and suspension free of fension
5— Upper forsion arm axial play correct

IV. Colour identification of shock absorbers (all models)

rey
rear s . v red-brown (with blue paint dot on upper eye)

REAR AXLE AND TRANSMISSION

I. Tolerances and Wear Limits

Tolerance Limits

(new parts) Wear Limits
1—Main drive shaft/needle
bearing in gland nut . . . . . clearance 0.12—0.19 m 0.25 mm
(.0047—.0075") (.008")
2— Main drive shaft, front, confact
surface for needle bearing of
the 3rd gear . » . wvnoeo run-out max. 0015 mm
(:0006”)
3— Bushes for gearshift housing . inside diameter | min, 15015 mm | 15260 mm
(59117 (6004")
4 —Transmission shift lever. . . . diameter 15.000—14.957 mm | 14750 mm
(:5906—5837") (5807")
= Praload of fingl, drive cSver
: o differential bull
- e i azan 0.10—0.18 mm
(.004—007")
6— Rear axle shaft
o) Flat end/fulerum plates
differential side gea
) o clearance 0.10—0.15 mm e
(.004—006") (0107)




Tolerance Limits | Wear Limits
b) Flm end/dl"erenhul side
ar (measured across the '
mnle sldus « + o e clearance 0.03—0.10 mm 0.20 mm
(0012—.0039") (008")
7 — Plastic packing/transmission
caselrear axie tubs/
oxle tube refainer . . . play o4 mn
8— Starter shaft bush . . . . . . inside diameter 1 |
(4980
9—Starter shaftfbush . . . . . . clearance 0% mm
10— Gear for 1st speed. . . . . . end play .10—0.25 mm A .|
(:0039—0098")
11— selector shoftlst and - it
speed operating sleeve . . en a ). .30 mm
L 45 (.004—.012") "
12— Synchronizer slop rings/gears |
clearance between clutch
teeth faces . "o o s . . ki 1.10 mm min.0.60mm
(045" to)
1. Tedmlcﬂl Data and Adjustment Values
all models
380
2.6
1.32
0.89
388
Final drive ratio 4125:1
b — Torsion Bar Adjustment, rear |
(Spring plates, unloaded)
Introduced from Torsion bar :
Chassis No. Type Poagth P on Adjustment
Sland3 | 826mm (3257) | Bmm (0907) | 20° +50°
e oayiond | | 826 mm (3257) | 24 mm (0.947) | 18°0" 4+ 50°
(AT, )| 28 mm (25) | Z3mm (0.907) | 21790 4 50°
E

T H




« — Drive Pinion and Ring Gear Adjustment

R —Stondord fitling dimension/ring gear center line o drive pinion face: 5870 mm
07)

ey on R (given in hundreths of o millimeter)

p — Maching number of gear sef

Ring gear backlash = 0.17—0 25 mm .0067—.0098")

Gieason and Klingelnberg toothing: Number P fobth 8:33

Distinguishing feture: As opposed o the Kingelnberg foothing the Gleason toothing
er towards the out:

BRAKES, WHEELS AND TIRES

1. Tolerances and wear limits

o — 230 mm Broke drum diamets Tolerance Limits o
{up fo Chassis No. 0221 274) (new parls) Wear Limits
1-— Broke master cylinder . . . . . diameter 64
(.813")
stroke 36 mm)
up to Chassis No. 0024845 . stroke a
Piston push rod, measured from (.37
the point up to the nut length 57—58 mm 1)
= (2.24—2.: 2!”)
up to Chassis No. 0024845 . length 5i—s5m
" 2.12-2. 16"]
2—Broke whee! cylinder
§ diometer 22.20 mm
b to Chossis No. 0027849 (874
fror diometer 20.64 mm
Type 3% > (8137)
rear - diamefer | Bam
(1.07)

) Type 3 since the start of production

m .




%
Tolerance Limits e
(":;:‘pﬂm) Wear Limits
3 —Broke drum, front i . . . . inner diameter |  231.140.2mm 232.6 mm
PR (9.098+.008") (9.157")
R iy inner diameter | 2310402 mm mm
up 1o Chassis No. 0076259 LA iz
Lo e nner diameter | 230.140.2 mm 21,6 mm
Turnmg imension for overs 19.057° 008" (AL
front srse. 0% « inner diometer | 2321402 mm
(3,138 008")
. inner diamefer | 232.0+0:
Bisd o0
inner diameter | 231.1402mm
(9.098-+-.008")
- wall thickness") | 7.05—5.75 mm 4mm
(:278—226") (157")
. wall thickness?) 6—5.3 mm 4 mm
(:220—208") (157")
wall thickness!) | 6.05—5.75 mm 4mm
(:238-.226") (.1577)

Effective brake lining area . . .
up to Chassis No. 0076299 .

880 cm

(1364 sq. in.)
cm?

(1287 sa. in.)

4—Brake lining, front . . . . . . width
rear ... ... width
RS ol
thickness
Oversize . .......0. thickness
S5—Wheel ........... « radial run-out

lateral run-out

50 mm
(1.977)

mm
(1.777)




b — 250 mm Brake drum diameter
{from Chassis No. 0221 275)
with the following deviations:

Tolerance Limits | ]
it Wear Limits ‘

1 — Brake master cylinder . . . . . diameter
stroke
Piston push rod, measured from
the point up fo the nut . . . . . length
2= Broke wheo! cyinder,
ront and rear. . . . . ... . diameer
only Type 36 rear . . . . . . diometer

3 —Brake drums, front and rear . . inner diameter

dimension for
ront and rear. . .

inner diameter
wall thickness

wall thickness

11. Tire Spe

19.05 mm
(.749") |

36 mm
(1.47)
57—58 mm
(224-228")
2220 mm
(874”)

mm
248,102 mm
(9.768+.008")
249.1+0.2 mm

008”)

249.6 mm @

4 mm
(.157")
4 mm
(1577)
(148.8 sq. in.)

36/827 Ibs. 36/1014 Ibs.
o o | 3% e
Tires (tubeless) . 600151 [ 6005151 ‘ 600151 ! 600151 6 PR
T A %15
Tire prossures . | front | rear | front | rear | front | rear | front | reor
a) up fo two Tikg/ [1.7kg/ | 1.1 kg[ 1.7 kg/ f
occupants . | sgcm | sapcm | sguem | squem ||| | |
(1bs, |2 sy | 06 b 24165
sq. in.) | sa, in sq. in.
b) full 12 kgl | 17 kel 12kg 17ks/
compliment | 5. cm | sq. cm
(7 1bs.| 24 165, |17 155y (23 el — e
sq.in) | 5. in) | sq.in.) | 5. inJ
9 ith holf 124/ |17/ [12kg] [17ke/
oad . sg.cm | sq. cm . cm
g = e o =ale U (27 =/ iy o/ ahibey
q. in) . in)
) with ol iy |5 IZkg ke
oa 5q. cm sq. cm
e Sllea ol o= e N e (a? [ (17 1bsy | 88168y
in) | sq.ind | sa. in | 5q.in

Note:

For continuous fast driving we recommend the higher pressure.




Tire rofation !
If the tires wear unevenly affer a certain period of time they can be rofated as follows: 1

e
ELECTRICAL SYSTEM
1. Lighting

Type Bulb Part No.
Headiight .- =55 2 et all A 6VASHOW | N177051
Fog lamps 34 D 6V35 W[ N17791
Parking lamps 1), parking light . . . all ) HL6V 4 W | N177I71
Flashing indicator light,
frontand rear .« .. ... a4t all R 6V18 W[ N177311
Stop light . . . . all R VI8 W[ N177311
Tail light all G 6V 5 W[ N1z7isy
License plate ngm o all G 6VI0 W[ N177191
Instrument and warning ||gh!s i all 16V 12 W| N17721
Luggage compartment hghv '1, |
interior light .. .. e all) K 6V10 W| N177231 i

1) not for 315—318, 365—368 and 36-265 (Delivery Van)
4




Il. Batteries

Introduced HModels

A=

from Chassis No. Yoir i
0000001 all 6 7
Check battery:
Battery fully charged:  32° Bé = spec. gravity 1.285
Battery half-charged: ~ 27° Bé = spec. gravity 1.230
Battery fully discharged: 18° Bé = spec. gravity 1.142
Acid level above upper edge of plates and separator: 5 mm (.197”)
GENERAL TECHNICAL DATA
1. Table of Types i
A B Designation description
311 312 S Sedan
313 314 S Sedan with steel sliding roof 3
315 316 Sedan
317|318 Sedan with steel sliding roof
343 344 Karmann-Ghia-Couj u |
345 346 Karmann-Ghia- Cm/pc with steel sliding roof ;
361 362 Varion!
363|364 Varmr\' S with steel sliding roof 3
365|366 ari
367 368 Vurmr\) with steel sliding_roof
- - Variant as Delivery Van 36 M 265 36-265
VW Industrial Engine
124 VW Industrio! Engine 1.5 | standard version 124
o= VW Industrial Engine 1.5 | without governor 124 M 999 124-999

A
B - & th hand drive

nd drive The S model and the Karmann-Ghia-Coupé
are equipped with a fwin carburefor engine.

43




Short designation in technical publications

Volkswagen 1500 Type 3
With single carburetor engine . . . . ... ........ 3/single carburetor
e e TN e R i 315318

Vticnt with 375 kaRayioad
Variant with 460 kg payload

365—368/375 kg (827 Ibs.)
365—368/460 kg (1014 Ibs.)

Variant van 36/Variant van (36-265)
With twin carburetor engine . . . . . ... ........ 3twin carburetor
S Sedan . 311314,

Karmann-Ghia- Coupé .
Variant $ with 375 kg payload
Variant § with 460 kg payload

361—364/375 kg (627 Ibs.)
361—364/460 kg (1014 Ibs.)

1. Tightening Reference for Bolis and Nuts

Torque
7 Torque
Size
(mkal | ploely
Engine:
Nuts for crankease halves . . . . . .. . . M12x15 | 35 2%
Nuts and bolts for (mnkcuse halves M8 20 14 |
Gylindor heod nuf M10 3082 | 2-;))
B S s Max1s |00 217 I
eel glanc nur x 1. .
Connecting rod Mox1” |50 lffoﬁ _Z} |
Sirow Tor Fan tnd cmnkshun puiley . M20x 12;5 13.0—15. |
x {

Sonecator pulley mut o - M12x15 | 45 3
Sparl M14x125 | 30 2 l
AR M14x15 | 35 |
Front Axle:
Steering wheel nut. . . . ... ...... M18x15 40 2
Nots for. steering gear on axle beam . . . M10 2.5 18
Screws for steering gear case cover . M 8x125 | 20-25 | 14—18
Locknut for roller shaft adjusfing screw . . . . . | M10x1_ | 25

op_arm mounting screw . « » .+ . M12x15 | 7.0 51
Steering arm Pesecaanese . Miox1 5.5 4
1) See pages 18/19 for details of the prescribed fightening sequence |

4




WMWz 5 ¥

=

e’ [ Toraue | Toraue
(mkg) pnundsj
amping scrow for ball foints. . . . . . - M exd | 25 2
R e el e x
h' : : B Mzxid}ino L
Grub screw for forsion bar an
siobilizer mounfing .k M14x15 Pi.—? wd 6
Locknut for grub screw Mi4x15 | do 2
10 30 2
| M1 40 2
M35x15 (120 87
M2x15 | 607) 43
M2Z2x15 | 601) 3
B e e M8x125 | 20 "
! Reverse lever guide screws. . . . . .. ... . M 7x1 20 14 |
Ball bearing refainer screws. . . . .. .. .. M10x15 | 50 36
le bearing. .+ . L. ... M 8x125 | 1015 | 7-11 |
. Bolts/nus for transmission case . . . . . . .. M 8x125 | 20 14
. Ring gear bol M10x15 | 60 4
Final drive covers M 8x125 | 30 2
Gearshift housing nufs . - . .. ... ... .. M 7x1" | 20 1
Scrows for spring Dot Senne s MR T ND: 80
Rear axle shaftnut . .. 0 . Dlllll M24x15 | 300 27
il Hiter and droin plug s = &+ S5t bis M24x15 |20 14
1 Firt fighen To @ toraue of 12 mkg (8 f. 1bs) loosen again and finally fighten to @ |
s
Brakes and Wheels:
Brake back plate bolts . . . . . . . M10x15 | 5545 | 40—
Brake wheel cylinder
o) on back plafe af rear. . . ... ... .. M8 25-30 | 18—2
b} on steering knucke af front. . 1 . 11 M10x1 43 3
Brake hose on
A e TR e e M10x1 1520 | 1—14
b) wheel brake cylinder .+ . . .. .. .... M10x1 1520 | 11-14
Wheel disc bolts MI12x15 | 100 7
Stop light swifch - M10x1 1520 | 11—
Body: 1
a=—When installing the body:
ody mounting bolfs . + + + . ... oLl M8 1520 | n—u4 {
B ot P B M10 15-20 | 1i—14 |
b — When checking |
M 1015 71
M10 1015 70 |
M8 25 18 |
M10 45 3 |
M10 45 kX ’
Mounting bolfs engine oy M8 105 | 7
Mounting bolts body fo-fronf &xle M10 45 3 |
a7 |




The sub frame bolts must be tightened in the sequence shown here,

€

 Atman
lll. Dimensions and Weights
Outer Dimensions 31 34 36
Wheelbase 2400 mm 2400 mm 2400 mm
(94.5") (94.5") (94.5")
ek, Froph a5 o e 4 o 1310 mm 1310 mm 1310 mm
(51.6") (51.6") (51.6")
POAr. .o i sieise o ddis 1346 mm 1346 mm 1346 mm
(53.0") (53.0) (53.0")
Length 4225 mm 4280 mm 4225 mm
(166.3") 168.5") (166.3")
T A A 1605 mm 1620 mm 1605 mm
(63.27) 63.8") (63.2")
Height, unladen . . . . . ... ... 1475 mm 1335 mm 1465 mm
(58.17) (52.6”) (57.77)
Ground clearance . . . . ... .. 149 mm 138 mm: 144 mm
(at permissible total weight) 5.9") (5.4”) 577)
Angle of approach . . . . ... .. .. 2%° 23° 2%°
17° 14° 17°

Angle of departure . . . . ... ...

i



3%
5 kg (827 Ibs) | 460 ko 11014 Ibs)

Weights

962 | 92 | 1963 | 1963 | 1963 | 1963 | 1963 | 1983

860 | 880 | 900 | 900 | 9851 9851)( 9951)| 9951)
s (1896) | (1940) | (1984) | (1984) |(2171) | (2171) | (2193) | (2193)
Payload . . . . .k 390 | 400 | 350 | 380 | 375 | 75 | 460 | 460

(I%s,] (860) | (881) | (772) | (838) | (827) | (827) | (1014) | (1014)

Max. total weighl.k% 1250 | 1280 | 1250 | 1280 | 1360 | 1360 | 1455 | 1455
(Ibs.) | (2756) | (2821) | (2756) | (2821) | (2998) | (2998) | (3206) | (3206)

Unladen vight kg

. load
Mg: Front axle -, 7 b 525 | 550 | 525 | 550 | 525 | 550 | 525 | 550
{ﬁ)s.! (M57) | (1212) | (M57) | (1212) ((157) | (1212) | (157) | (1212)
on rear axle . .k% 725 | 750 | 725 | 750 | 920 | 920 | 975 | 975
(1bs.) [ (1598) | (1653) | (1598) | (1653) |(2028) |(2028) | (2149) | (2149)

1) including driver

—— e

IV. Performance

Maximum Speeds

31and 36

Single Twin Single Twin
Carburetor | Carburetor | Carburetor | Carburetor
Engine Engine ngine 1) Engine

Mox. spoed . opprox. kph. (mph) | 12578 | 13580 | 1328 | 14500
at engine . . appro 39: 4250 4140 4500

) only up to august 1963

Speeds in the individual gears

All_models with

Gear approx. Single Carburetor Engine
£ ot 3800 r.p.m.

1st kph. [m. 17
2nd kp.h (m 52 (32)
3rd Kp.h. (m 81 (50)
4th kph. (m. 120 (75)
Reverse | k.ph. (m 2 (17)




Climbing ability on normal roads
Vehicle with two occupants

& %)

o 2 s 6271bs. | 10131bs.
st *h 455 455 40.0 38.0
2nd % 25 25 2.0 19.0
3rd % 140 14.0 120 ns
4th % 75 8.0 60

1) with half payload

Acceleration fime (through the gears)

Single Twin
Carburetor Engine Carburetor En;
3and36 | 1) | 31and36
fromCcto < GPPIOX. | 15 gec, 14 sec. 13 sec. 12 sec.
jens b B el i e 2sec. | 21sec. 20 sec.
o s By L e 10 sec. 8 sec. 8sec.
) only up to august 1963
V. Capacities
\ all models
s g e e R SRR e
Fuel tank . . . . oo oo vt 40 liters (10.5U.S. gals.; 8.8 Imp. gals.)
CTankaiia - S i ss 25 liters (53U, pm\s u Imp. pints)
Refilling quanti 5 liter
(5.3 U.S. pints; 4.4 Imp s}

Transmission case and
final drive  + .+ -« oo 30 liters (63 U.S. pinfs; 3. n Im. pints)
Refilling quantil ers
(5.3 U.S. pints; ulmp pm)s]
Steering < - - .- - ECh2 0.16 liter (0.32 U.S. pint; 0.26 Imp. pint)
Brokeght 5% & - 2fe i 0.25 liter (0.5 U.S. pint; 0.4 Imp. pint)
Oil bath air cleaner. . . . . . Fill up fo mark (ngrlox 025 ;ﬂ]erslﬂ 53 U.S. pint;
m,

e e e S O PR e e
1) Twin carburefor engine: approx. 0.4 lifers

53




B o

VL. Fuel consumption

b and Fuel consumption 1) x " |
modal. .| singls Corbureton Engine [hinGambursior Engine |- O Consumetion
31 and 36 8.4 liter/100 km 7.8 liter/100 km =
£ 28 mpg. U.S: goidmp US| 0510 e 000k
33.5 mpg. Imp.) .21 mp. Imp.) 1.7—3.4USS. pints
per 1000 miles
34 &g Liter/100 k3 8.0 liter/100 km 1i4—2.8 I, plite
.5 mpg. U.S. mpg. U.S. ;
Y mpg e 5.31 mpg. Imp.} o e

) According fo DIN 70090 factual :unsm:]pnen plus 10 % with half of max. payload at

of mox. speed on level
7) only up to August 1963

e —




Always refer to the Workshop Bulletins
t since the values in this booklet may change. |

® 1963 VOLKSWAGENWERK AG i
All rights reserved 1.64 Printed in Germany

530.325.20 {




January 1964 s s E.nglisd-

‘ /



